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Q.1
Read the sentence below and identify the part which contains a grammatical

CITor.

At the request of the defense attorney (A) the jury were called (B)/and their
individual verdicts were recorded. (C)

a. A
b. B
(i3 &
d. D
Ans X A (a)

« B. (b)

X C.(0)

# D. (d)

Question ID : 6147728643
Status : Answered
Chosen Option : B

Q.2
After he came back from his evening walk, he felt famished. The meaning of
the underlined word is:

d. Exhausted
b. Hungry
Peevish
Relaxed

e o

Ans X A (a)
" B.(b)
< C.(c)
& D.(d)

Question ID : 6147728655
Status : Answered
Chosen Option : A
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Q3
The opposite in meaning to the underlined word n the following sentence is:
Mrs Nimisha made a fervent appeal to the members of the club to maintain
umity.
a. active
b. impassive
c. cold
d. passionate
Ans X A (a)
& B. (b)
X C.(0)
& D.()
Question ID : 6147728657
Status : Not Answered
Chosen Option : --
Q4
We received them coldly. It means that:
a. 1t was cold when we received them.
b.  we received them in an uniriendly manner.
¢.  our hands were cold when we received them.
d. we were happy to receive them
Ans X A. (a)
« B.(b)
X C.(c)
& D.(d)
Question ID : 6147728646
Status : Answered
Chosen Option : B
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Q.5
Choose the correct sentence.
a. I gave the book to Sashi.
b. I gave to Shashi the book.
c. 1 gave Shashi to book.
d. I gave the book Shahi.
Ans A (a)
& B.(b)
X C.(0)
X D.(d)
Question ID : 6147728649
Status : Answered
Chosen Option : A
Q.6
Fill in the blank with appropriate word from the options below.
They have gone to church to pray.
a. a
b. an
c. the
d. No article required
Ans X A (a)
& B.(b)
X C.(0)
« D.(d)
Question ID : 6147728644
Status : Answered
Chosen Option : A

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S16D1009/16563106574273873...  3/42



6/30/22, 12:32 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S16D1009/1...

o Read the sentence below and identify the part which contains a grammatical
error.
Alam is (A)/ pupil of (B)/ the Green Valley School (C)/ in Delhi. (D)
a. A
b. B
c. C
d. D
Ans X A (a)
« B.(b)
X C.(c)
< D.(d)
Question ID : 6147728642
Status : Not Answered
Chosen Option : --
Q.8
Change the voice of the following sentence.
The chief guest gave away the prizes.
a. The prizes are given away by the chief guest.
b. The prizes were given away by the chief guest.
c.  The prizes had been given away by the chief guest.
d. The prizes had been given away by the prizes.
Ans X A. (a)
« B.(b)
X C.(c)
& D.()
Question ID : 6147728647
Status : Answered
Chosen Option : B
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Q9 Read the sentence below and identify the part which contains a grammatical
erTor.
A closed economy 1s identified (A)/ as a human community (B)/ which produces
all it consumes (C)/ and consumed all it produces (D).
a. A
b. B
c. C
d. D
Ans X A. (a)
X B.(b)
< C.(c)
" D.(d)
Question ID : 6147728638
Status : Answered
Chosen Option : D
Q.10
You'd better take off your shoes. You'd means in this sentence
a. You should
You would
c. You had
d. You could
Ans X A (a)
X B.(b)
« C.(c)
A D.(d)
Question ID : 6147728653
Status : Answered
Chosen Option : A
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Ans

Select the option that has nearest meaning to the underlined word in the

following sentence:

There was no ostensible reason for her being angry at her husband’s remarks.
a. Hidden
b. Covert
¢. Apparent

d. Secret

X A (a)
& B.(b)
« C.(c)
X D.(d)

Question ID : 6147728654
Status : Answered
Chosen Option : A

Q.12

Ans

Read the sentence below and identify the part which contains a grammatical

error.
The owner (A) as well as lus servants (B)/ 15 honest (C)/No error (D).
a. A
b. B
(] G

d. No error

X A (a)
X B.(b)
X C.()
« D.(d)

Question ID : 6147728641
Status : Answered
Chosen Option : C
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Q.13
Fill in the blank with appropriate word from the options below. He does nothing
but
a. Complaining
b. To complain
¢. Complained
d. Complain
Ans X A (a)
& B.(b)
X C.(c)
" D.(d)
Question ID : 6147728651
Status : Answered
Chosen Option : D
Q.14
Read the sentence below and identify the part which contains a grammatical
error.
Kripa and Samarth had (A)/ been secing (B)/ each other for vears. (C)/
Been they? (D)
a. A
b. B
c. C
d. D
Ans X A (a)
X B. (b)
X C.(c)
" D.(d)
Question ID : 6147728640
Status : Answered
Chosen Option : D
Q.15
Choose the correct sentence
a. Suresh’s teacher gave him many advise.
b. Suresh’s teacher advised him.
c.  Suresh’s teacher gave him a piece of advice.
d. Suresh’s teacher gave him a piece of advise.
Ans X A (a)
X B. (b)
o« C.(c)
X D.(d)
Question ID : 6147728645
Status : Answered
Chosen Option : C
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Q.16
Which among the following options is the correct active voice of the sentence
given below.
The students are taught by Mrs. Sethi
a. Mrs. Sethi teach the students
b. Mrs. Sethn teaches the student
c. Mrs. Sethi taught the students
d. Mrs Sethi teaches the students
Ans X A. (a)
X B.(b)
X C.(c)
" D.(d)
Question ID : 6147728639
Status : Answered
Chosen Option : A
Q.17
Choose the correct sentence
a. He told to his fnends to visit to him tomorrow.
b. He told his mends to visit to him tomorrow.
¢. He told to lus fnends visit im tomorrow,
d. He told lus fmends to visit him tomorrow.
Ans X A. (a)
< B.(b)
X C.(c)
" D.(d)
Question ID : 6147728650
Status : Answered
Chosen Option : D
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o Choose the correct answer afler changing the speech or narration of the
following sentence:
They said. “We were waiting for Anushka to arrive.”
a.  They said that we were waiting for Anushka to arrive.
b.  They said that they were waiting for Anushka to arrive.
c.  They say that we were waiting for Anushka to arrive.
d.  They said that they were waiting for Anushka to arrive
Ans X A (a)
X B. (b)
X C.(c)
« D.(d)
Question ID : 6147728648
Status : Answered
Chosen Option : B
Q.19
Which of the words in the options below 1s closest to opposite in meaning to the
underlined word in the following sentence:
How dare you desecrate an idol of this temple.
a. defy
b. pollute
c. defy
d. impious
Ans X A (a)
& B.(b)
& C.(c)
X D.(d)
Question ID : 6147728656
Status : Not Answered
Chosen Option : --
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Q.20

Ans

Fill in the blank with appropriate word from the options below. I could hear him

a. Speaking
b. Speak
c. Tospeak
d. To have spoken

X A (a)

" B. (b)

2 C.(c)

2 D.(d)

Question ID : 6147728652
Status : Answered
Chosen Option : A

Q.21

Ans

Comprehension:

Read the passage carefully and answer the following questions.

Atnoon. calmly and in a businesslike way she put the books around her bosom,
and so skillfully and snugly that Yegor announced, smacking his lips with
satisfaction:

“Sehr gut! As the German says when he has drunk a keg of beer. Literature has
not changed you. granny. You still remain the good., tall. portly, elderly woman.

May all the numberless gods grant you their blessings on your enterprise!™

Within half an hour she stood at the factory gate, bent with the weight of her
burden, calm and assured. Two guards, imitated by the oaths and raillery of the
workingmen. examined all who entered the gate. handling them roughly and
swearing at them. A policeman and a thin-legged man with a red face and alert
eyes stood at one side. The mother, shifting the rod resting on her shoulders,
with a pail suspended from either end of it, watched the man from the comer of
her eve. She divined that he was a spy.

SubQuestion No : 21

The word *snugly’ means

a. comfortably
b. crafily
c. with expertise
d. Toughly

W A (a)

X B.(b)

& C.(c)

X D.(d)

Question ID : 6147728659
Status : Answered
Chosen Option : C
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Comprehension:

Read the passage carefully and answer the following questions.

Atnoon, calmly and in a businesslike way she put the books around her bosom,
and so skillfully and snugly that Yegor announced, smacking his lips with
satisfaction:

“Sehr gut! As the German says when he has drunk a keg of beer. Literature has
not changed you. granny. You still remain the good, tall. portly, elderly woman.

May all the numberless gods grant you their blessings on your enterprise!”™

Within half an hour she stood at the factory gate, bent with the weight of her
burden, calm and assured. Two guards, irritated by the oaths and raillery of the
workingmen. examined all who entered the gate. handling them roughly and
swearing at them. A policeman and a thin-legged man with a red face and alert
eyes stood at one side. The mother, shifting the rod resting on her shoulders,
with a pail suspended from either end of it, watched the man from the comer of
her eye. She divined that he was a spy.

SubQuestion No : 22
Q.22
The phrase ‘a keg of beer’ means

a. A peg of beer

b. A tumbler of beer
c. A barrel of beer

d. Half a glass of beer

Ans X A (a)
< B.(b)
« C.(c)
& D.(d)

Question ID : 6147728660
Status : Answered
Chosen Option : B
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Comprehension:

Read the passage carefully and answer the following questions.

Atnoon, calmly and in a businesslike way she put the books around her bosom,
and so skillfully and snugly that Yegor announced, smacking his lips with
satisfaction:

“Sehr gut! As the German says when he has drunk a keg of beer. Literature has
not changed you. granny. You still remain the good, tall. portly, elderly woman.

1>

May all the numberless gods grant you their blessings on your enterprise

Within half an hour she stood at the factory gate, bent with the weight of her
burden, calm and assured. Two guards, irritated by the oaths and raillery of the
workingmen. examined all who entered the gate. handling them roughly and
swearing at them. A policeman and a thin-legged man with a red face and alert
eyes stood at one side. The mother, shifting the rod resting on her shoulders,
with a pail suspended from either end of it, watched the man from the comer of
her eye. She divined that he was a spy.

SubQuestion No : 23

Q.23
How many pails are suspended on the rod
a. One
b. Two
c. Three
d. Four
Ans X A (a)
« B. (b)
X C.(0)
# D.(d)

Question ID : 6147728662
Status : Answered
Chosen Option : B
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Comprehension:

Read the passage carefully and answer the following questions.

Atnoon, calmly and in a businesslike way she put the books around her bosom,
and so skillfully and snugly that Yegor announced, smacking his lips with
satisfaction:

“Sehr gut! As the German says when he has drunk a keg of beer. Literature has
not changed you. granny. You still remain the good, tall. portly, elderly woman.

May all the numberless gods grant you their blessings on your enterprise!”™

Within half an hour she stood at the factory gate, bent with the weight of her
burden, calm and assured. Two guards, irritated by the oaths and raillery of the
workingmen. examined all who entered the gate. handling them roughly and
swearing at them. A policeman and a thin-legged man with a red face and alert
eyes stood at one side. The mother, shifting the rod resting on her shoulders,
with a pail suspended from either end of it, watched the man from the comer of
her eye. She divined that he was a spy.

SubQuestion No : 24

Q.24
The word ‘raillery’ means
a. Hardships
b. Good-humoured teasing
c. Drudgery
d.  Difficulty
Ans X A (a)
« B. (b)
# C.(c)
& D.(d)

Question ID : 6147728661
Status : Answered
Chosen Option : B
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Comprehension:

Read the passage carefully and answer the following questions.

Atnoon, calmly and in a businesslike way she put the books around her bosom,
and so skillfully and snugly that Yegor announced, smacking his lips with
satisfaction:

“Sehr gut! As the German says when he has drunk a keg of beer. Literature has
not changed you. granny. You still remain the good, tall. portly, elderly woman.

1>

May all the numberless gods grant you their blessings on your enterprise

Within half an hour she stood at the factory gate, bent with the weight of her
burden, calm and assured. Two guards, irritated by the oaths and raillery of the
workingmen. examined all who entered the gate. handling them roughly and
swearing at them. A policeman and a thin-legged man with a red face and alert
eyes stood at one side. The mother, shifting the rod resting on her shoulders,
with a pail suspended from either end of it, watched the man from the comer of
her eye. She divined that he was a spy.

SubQuestion No : 25

Q.25
The word *divined” means
a. Understood
b. She had a revelation
. Guessed
d. Knew it secretly
Ans X A (a)
75 B. (b)
« C.(c)
2< D.(d)

Question ID : 6147728663
Status : Answered
Chosen Option : C

Section : General Awareness
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Q1
Ghumot is indigenous traditional percussion instrument of
a. Andhra Pradesh
b. Goa
¢. Punjab
d. Assam
Ans X A (a)
« B.(b)
K C.(c)
& D.(d)
Question ID : 6147728686
Status : Not Answered
Chosen Option : --
Q.2
Bihu is the festival that is observed in:
a. West Bengal
b. Maharashtra
c. Assam
d. Tamil Nadu
Ans X A (a)
X B.(b)
« C.(c)
X D. (d)
Question ID : 6147728683
Status : Answered
Chosen Option : C
Q.3
Which of the following programmes is being implemented by the National Bank
for Agriculture and Rural Development (NABARD)?
a. Prime Minister’s Rozgar Yojana (PMRY)
b. Swamnajavanti Gram Swarozgar Yojana (SGSY)
c. District rural Industrial Project (DRIP)
d. Rural Employment Generation Programme (REGP)
Ans X A (a)
X B. (b)
K C.(c)
« D.(d)
Question ID : 6147728688
Status : Answered
Chosen Option : C
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Q.4
Which of the following is called the storehouse of world-art collections?
a. National Archives of India
b. National Museum
¢. National Modern Art Gallery
d. Salarjung Museum
Ans X A (a)
& B.(b)
X C.(0
" D.(d)
Question ID : 6147728685
Status : Not Answered
Chosen Option : --
Q.5
Toda tribes are found in the state of ;
a. Andhra Pradesh
b. Chattisgarh
¢. Jharkhand
d. Tamilnadu
Ans X A (a)
X B.(b)
X C.(0)
o D.(d)
Question ID : 6147728666
Status : Answered
Chosen Option : D
Q.6
The national income of a country for a given period is equal to the:
a. Total value of goods and services produced by the nationals
b. Sum of total consumption and investment expenditure
¢. Sum of personal income of all individuals
d. Money value of final goods and services produced
Ans X A (a)
& B.(b)
# C.(c)
" D.(d)
Question ID : 6147728687
Status : Answered
Chosen Option : B
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Q.7
Who was the first Indian to be honoured with a lifetime achievement Oscar
award?
a. Pandit Ravi Shankar
b. Bhimsen Joshi
c. Lata Mangeshkar
d. Satyajit Ray
Ans X A (a)
X B.(b)
X C.(0)
& D.(d)
Question ID : 6147728679
Status : Answered
Chosen Option : D
Q.8
Who among the following played the leading lady in the film *Mission Mangal®
that tells the dramatic true story of the women behind India’s first mission to
Mars?
a. Deepika Padukone
b. Vidya Balan
c. Kajol
d. Kareena Kapoor
Ans X A (a)
« B.(b)
< C.(c)
& D.(d)
Question ID : 6147728682
Status : Answered
Chosen Option : B
Q.9 ; . ;
Where did the first ODI played in India?
a. New Delli
b.  Ahmedabad
c. Kolkata
d. Mumbai
Ans X A (a)
& B. (b
X C.(0)
A D.(d)
Question ID : 6147728668
Status : Not Answered
Chosen Option : --
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Q.10
World Environment day is celebrated on
a. 4" August
b. 6" June
c. 15% July
d. 6" December
Ans X A.(a)
" B. (b)
X C.(0
X D.(d)
Question ID : 6147728671
Status : Answered
Chosen Option : A
Q.11
Vande Matram was included in
a. Rajtarangani
b. Anandmath
¢. Akbarmmama
d. Bharatdarshanam
Ans X A (a)
« B. (b
X C.(0
# D.(d)
Question ID : 6147728672
Status : Answered
Chosen Option : D
Q.12
Which of the following International Tennis Tournaments 1s held on grass
court?
4. US open
b. French open
¢. Australian open
d. Wimbledon
Ans X A (a)
# B.(b)
< C.(0)
« D.(d)
Question ID : 6147728673
Status : Not Answered
Chosen Option : --
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Q.13
B.C. Roy award is given in the field of
a. Sports
b. Journalism
¢. Medicine
d. Economics
Ans X A (a)
X B.(b)
« C.(c)
X D.(d)
Question ID : 6147728678
Status : Answered
Chosen Option : B
Q.14
Mational school of drama 1s situated
a. Agra
b. New Dellu
¢. Mumba
d. Pune
Ans X A. (a)
" B. (b)
X C.(0
& D.(d)
Question ID : 6147728664
Status : Answered
Chosen Option : B
Q.15
Feroz Gandhi award is associated with
a. Medical Research
b. Film direction
c. Sports
d. None of the above
Ans X A (a)
& B.(b)
# C.(c)
& D. (d)
Question ID : 6147728677
Status : Not Answered
Chosen Option : --
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Q.16
Fear of 1llness is known as
a. latrophobia
b. Herpetophobia
¢. Hypochondria
d. Haemophobia
Ans X A (a)
X B. (b)
« C.(c)
2/ D.(d)
Question ID : 6147728680
Status : Answered
Chosen Option : A
Q.17
Konkani is the official language of
a. Chandigarh
b. Dadra and Nagar Haveli
¢. Daman and Diu
d. Delln
Ans X A (a)
X B. (b)
« C.(c)
2 D.(d)
Question ID : 6147728681
Status : Answered
Chosen Option : B
Q.18
Which of the following sanctuary is well-known for elephants?
a. Kanha
b. Gir
c. Kaziranga
d. Periyar
Ans X A (a)
# B.(b)
< C.(c)
« D.(d)
Question ID : 6147728665
Status : Answered
Chosen Option : D
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Q.19
Who is current Union Minister of Cooperation of government of India?
a.  Shr Amit Shah
b. Shri JyotiradityaScindia
¢.  Shn Dharmendra Pradhan
d. Shri Giriraj Singh
Ans A (a)
X B. (b)
X C.(c)
< D.(d)
Question ID : 6147728670
Status : Answered
Chosen Option : D
Q.20
Which of the following is a major folk dance of Rajasthan?
a. Chhau
b. Giddha
¢. Ghumar
d. Bihu
Ans X A (a)
X B.(b)
« C.(c)
# D.(d)
Question ID : 6147728684
Status : Answered
Chosen Option : C
Q.21
Prime Minister Narendra Modi has launched India’s first roll en- roll off or *‘Ro-
Ro’ ferry service in which state?
a. Sikkim
b. Assam
¢. Maharashtra
d. Gujarat
Ans X A (a)
X B.(b)
2 C.(c)
" D.(d)
Question ID : 6147728676
Status : Not Answered
Chosen Option : --
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Q.22
city is known as Mecca of Indian football?
a. Kolkata
b.  Dellu
(= Sikkim
d.  Chennai
Ans A (a)
X B.(b)
K C.(0)
X D.(d)
Question ID : 6147728667
Status : Answered
Chosen Option : C
Q.23
Highway on which one has to travel to reach Vishakhapatnam from Vijayawada
a. NHO9
b. NH 10
c. NH47
d. None of the above
Ans X A (a)
X B. (b)
X C.(c)
« D.(d)
Question ID : 6147728669
Status : Answered
Chosen Option : C
Q.24
Which city is known as *Queen of Arabian sea’?
a. Vizag
b. Kakmada
c. Mumb:a
d. Kochi
Ans X A (a)
X B.(b)
K C.(c)
" D. (d)
Question ID : 6147728675
Status : Answered
Chosen Option : C
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e Famous Rock Garden is located in which city?
a. Jaipur
b. Shimla
¢. Chandigarh
d. Lucknow
Ans X A (a)
X B. (b)
« C. (0
X D.(d)

Question ID : 6147728674
Status : Answered
Chosen Option : C

Section : Logical and Analytical Ability

Q.1
Choose out the odd one.

a. Centaur
b. Tortoise
¢. Goat

d. Lion

Ans A (a)
< B.(b)
X C.(c)
& D.(d)

Question ID : 6147728690
Status : Not Answered
Chosen Option : --
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Q.2
A number consists of two digits. If the digits interchange places and the new
number 1s added to the original number, then the resulting number will be
divisible by
a 3
b. 5
c. 9
d 1l
Ans X A (a)
& B.(b)
X C.(c)
& D.(d)
Question ID : 6147728703
Status : Answered
Chosen Option : D
Q.3
L6x32 _
nos
a. 0.8
b. 6.4
c. &
d. 64
Ans X A (a)
X B. (b)
X C.(c)
« D.(d)
Question ID : 6147728699
Status : Answered
Chosen Option : D
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Q.4
In a queue, A is eighteenth from the front while B is sixteenth from the back. If
C is twenty-fifth from the front and is exactly in the middle of A and B, then
how many persons are there in the queue?
a. 45
b. 46
c. 47
d. 48
Ans X A (a)
X B. (b)
« C.(c)
& D.(d)
Question ID : 6147728698
Status : Answered
Chosen Option : C
Q.5
IfA=2 M=26,Z=52, then BET=7
a. 44
b. 54
c. 04
d 72
Ans X A (a)
« B. (b)
< C.(0)
X D.(d)
Question ID : 6147728692
Status : Answered
Chosen Option : B
Q.6
A motorist travelled between two towns, which are 65 km past, m 2 hours and
10 minutes. Find the speed in metres per minute.
a. 200
b. 500
c. 600
d. 700
Ans X A (a)
& B.(b)
&K C.(c)
X D.(d)
Question ID : 6147728707
Status : Answered
Chosen Option : B
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Q7
[ am facing east. | turn 100%in the clockwise direction and then 145 in the anti-
clockwise direction. Which direction am 1 facing now?
a. East
b. North-gast
c. North
d. South-west
Ans X A. (a)
« B.(b)
X C.(0)
X D.(d)
Question ID : 6147728695
Status : Answered
Chosen Option : B
Q.8
The average of two numbers 1s 6.5 and square root of their product 1s 6. What
are the numbers?
a. 1land2
b. 8and3
c. Yand4
d. 10and3
Ans X A (a)
X B.(b)
& C.(0)
X D. (d)
Question ID : 6147728702
Status : Answered
Chosen Option : C
Q.9
A takes twice as much time as B of thrice as much time as C to finish a piece of
work. Working together, they can finish the work in 2 days. B can do the work
alone in
a. 4days
b. 6days
c. 8days
d. I12days
Ans X A (a)
« B.(b)
X C.(0)
& D.(d)
Question ID : 6147728705
Status : Not Answered
Chosen Option : --

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S16D1009/1656310657427387 ...

26/42



6/30/22, 12:32 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S16D1009/1...

Q.10
The angle of elevation of the sun, when the length of the shadow of a tree is
/3 times the height of the tree, is
a. 30°
b. 45°
c. 600
d. None of the above
Ans A (a)
& B.(b)
2 C.(c)
7 D.(d)
Question ID : 6147728713
Status : Not Answered
Chosen Option : --
Q.11
If an article 1s sold at 200 percent profit, then the ratio of its cost price to its
selling price will be
& =3
b. 2:1
(R
d- 3¢l
Ans X A (a)
7 B.(b)
" C.(c)
& D.(d)
Question ID : 6147728704
Status : Answered
Chosen Option : A
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Q.12
Five persons are standing in a line. One of the two persons at the extreme ends
1s a professor and the other a business man. An advocate 1s standing to the right
of a student. An author is to the left of the business man. The student is standing
between the professor and the advocate. Counting from the left, the advocate is
at which place?
a. 1#
b 2
c. 3¢
d. 5®
Ans X A (a)
X B.(b)
« C.(0)
& D.(d)
Question ID : 6147728694
Status : Answered
Chosen Option : C
Q.13
What would be the simple interest obtained on an amount of Rs 5890 at the rate
of 6 % per anum after 3 years.?
a. Rs1060.20
b.  Rs1063.80
c. Rs1336.80
d.  Rs 1666.80
Ans o A (a)
X B.(b)
X C.(c)
X D.(d)
Question ID : 6147728709
Status : Answered
Chosen Option : A
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Q.14
If Atul finds that he is twelfth from the right in a line of boys and fourth from

the left, how many boys should be added to the line such that there are 28 boys
in the line?

a. 12

b. 13

c. 14

d. 20

Ans X A (a)
« B. (b
X C.(c)
A D.(d)

Question ID : 6147728697
Status : Answered
Chosen Option : B

Q.15
If every alternate letter, starting with A, is removed from the alphabet. which

letter among the remaining letters would be the third to the right of the fifth
letter from the right?

a. X
b. V

Ans A (a)
X B. (b)
X C.(0)
& D.(d)

Question ID : 6147728696
Status : Answered
Chosen Option : A
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Q.16
11,13,17, 19,23,25,7
a. 26
b. 27
c. 29
d 37
Ans X A (a)
X B.(b)
« C.(0)
< D.(d)
Question ID : 6147728689
Status : Answered
Chosen Option : C
Q.17
A speed of 30.6 km/hr is the same as
a. 5.1 m/sec
b. 8.5 m/sec
c. 110.16 m/sec
d. None of these
Ans X A (a)
« B.(b)
< C.(c)
X D.(d)
Question ID : 6147728706
Status : Answered
Chosen Option : D
Q.18
An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If three marbles
are picked up at random, what is the probability that 2 are blue and | 1s yellow?
3
d. —
51
-
5
i8
c. —
455
7
d. o
Ans X A (a)
X B.(b)
« C.(c)
X D.(d)
Question ID : 6147728711
Status : Not Answered
Chosen Option : --
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o A boat goes 8§ km in one hour along the stream and 2 km in one hour against the
stream. The speed i kmv/hr of the stream 1s
a 2
b. 3
c =
d. 5
Ans A (a)
X B.(b)
X C.(0)
& D.(d)
Question ID : 6147728708
Status : Not Answered
Chosen Option : ==
Q.20
If in a certain code, ALMIRAH is written as BNPMWGO, which word would
be written as DNRWLUA?
a. COSGOLT
b. TOGSOLC
¢. TOGCLOS
d. CLOSGOT
Ans X A (a)
X B.(b)
& C.(c)
o D.(d)
Question ID : 6147728691
Status : Answered
Chosen Option : D
Q.21
If x=a, y=b is the solution of the equations x—y=2 and x+y=4, then the values
of a and b are, respectively:
a 3.3
b: 5,3
c: 3,1
d. -1,-3
Ans X A. (a)
X B.(b)
" C.(c)
X D.(d)
Question ID : 6147728701
Status : Answered
Chosen Option : C
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Q.22
A room 5m =8m is to be carpeted leaving a margin of 10 em from each wall. If
the cost of the carpet is Rs 18 per Sq. metre, the cost of carpeting the room will
be
a. Rs673.92
b.  Rs682.46
c. Rs691.80
d.  Rs702.60
Ans A (a)
& B.(b)
X C.(0
< D.(d)
Question ID : 6147728710
Status : Answered
Chosen Option : A
Q.23
e z
The value of 228 i
a. 20
b. 40
c. 1216
d 1316
Ans X A (a)
X B.(b)
X C.(c)
« D.(d)
Question ID : 6147728700
Status : Answered
Chosen Option : D
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Q.24
An urn contains 6 red. 4 blue, 2 green and 3 yellow marbles. If 4 marbles are
picked up at random, what 1s the probability that at least one of them is blue?
=
a. =
69
b. s
11
c. =
22
d. =
Ans X A (a)
" B. (b)
X C.(c)
< D.(d)
Question ID : 6147728712
Status : Not Answered
Chosen Option : --
Q.25 5 o y ; :
In a joint family, there are father, mother, 3 married sons and one unmarried
daughter. Of the sons, two have 2 daughters each, and one has a son. How many
female members are there in the family?
4 2
b. 3
c. b
d 9
Ans X A (a)
& B.(b)
X C.(c)
" D.(d)
Question ID : 6147728693
Status : Answered
Chosen Option : D
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Q1
The term laissez faire means
a. freedom to government
b.  government interference in solving economic problems
c.  [reedom from markets
d.  non-interference of government in free markets
Ans X A (a)
X B. (b)
X C.(0)
& D.(d)
Question ID : 6147728733
Status : Answered
Chosen Option : D
Q.2
Citizens enjoy freedom to take economic decisions under the
a.  Capitalist system
b.  Socialist system
c.  Constitutional system
d.  Democratic system
Ans o A (a)
X B. (b)
X C.(0)
& D.(d)
Question ID : 6147728734
Status : Answered
Chosen Option : D
Q3
The maximum number of members in a public company are
a. 200
b. 7
c. 15
d.  None of the above
Ans X A (a)
X B.(b)
X C.(c)
« D.(d)
Question ID : 6147728718
Status : Not Answered
Chosen Option : --
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Q4
Which of the following statements correctly reflect the prevailing and dominant
view with respect to business?
a.  Businesses sole responsibility is to earn profit
b.  Profit may be a leading objective of business but not the sole
objective
c.  Businesses gain legitimacy by serving the poor and needy.
d.  Businesses exploit the consumers.
Ans X A (a)
« B.(b)
X C.(0)
X D. (d)
Question ID : 6147728716
Status : Answered
Chosen Option : B
Q5
Standup India Scheme is aimed at supporting entrepreneurs belonging to the
following categories.
a. Women
b. SC/ST
¢c. DBotha&b
d.  Rural
Ans X A (a)
X B. (b)
« C.(c)
X D.(d)
Question ID : 6147728735
Status : Not Answered
Chosen Option : --
Q.6
e-business compared to traditional business enables
a.  flexible manufacturing
b.  customization of products/services
c. bothaandb
d. neitheranorb
Ans X A (a)
X B. (b)
« C.(0)
X D.(d)
Question ID : 6147728720
Status : Answered
Chosen Option : C
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Q7
Which among the following are financial instruments for raising capital in
international capital markets?
a. GDRs
b. ADRs
c. IDRs
d.  All the above
Ans X A. (a)
< B. ()
X C.(c)
" D.(d)
Question ID : 6147728722
Status : Answered
Chosen Option : D
Q.8
Which of the following Public Sector Banks was merged with Indian Bank?
a.  Dena Bank
b.  Allahabad Bank
¢.  Vijaya Bank
d.  Umon Bank of India
Ans X A (a)
« B.(b)
X C.(c)
2 D.(d)
Question ID : 6147728723
Status : Answered
Chosen Option : D
Q.9
Memorandum of Association contains the following clauses among others:
a. Name clause
b.  Registered office clause
c. Capital clause
d. All of the above
Ans X A (a)
X B.(b)
X C.(c)
« D.(d)
Question ID : 6147728721
Status : Answered
Chosen Option : D
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Q.10
Visual communication 1s attractive because 1t
&, has a stable effect on mind
b.  is enhances complexity
c. botha&b
d. neither a nor b
Ans @ A (a)
< B.(b)
X C.(0)
X D.(d)
Question ID : 6147728732
Status : Answered
Chosen Option : A
Q.11
Which of the following is not a sales promotion activity?
a. Discounts
b. Contests
c.  Free samples
d. Publicity
Ans X A (a)
X B.(b)
# C.(c)
" D.(d)
Question ID : 6147728726
Status : Answered
Chosen Option : B
Q.12
F W Taylor is called as
a.  Father of modern management
b. Father of scientific research
¢.  Father of science and principles
d.  None of the above
Ans X A (a)
X B.(b)
# C.(c)
" D.(d)
Question ID : 6147728719
Status : Answered
Chosen Option : D
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Q.13
has greater significance in inter-personal communications
a.  Verbal commumcation
b.  Written communication
c. Gestural communication
d.  Both verbal and non-verbal communications
Ans X A (a)
X B.(b)
« C.(c)
X D.(d)
Question ID : 6147728731
Status : Answered
Chosen Option : D
Q.14
Trade Mark is
4.  abrand name
b.  abrand logo
c.  a brand name and brand mark with legal protection
d.  the name of the product given by traders
Ans X A (a)
< B.(b)
« C.(c)
2 D.(d)
Question ID : 6147728724
Status : Answered
Chosen Option : C
Q.15
Product quality is not assured by the following:
a. BIS Hall Mark
b. AGMARK
c.  Brand image
d. ISI Mark
Ans X A. (a)
X B. (b)
« C.(c)
A D.(d)
Question ID : 6147728727
Status : Answered
Chosen Option : C
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Q.16
Which of the following is a non-durable consumer product?
a.  Stationery items
b.  Kitchen gadgets
c. Art itemns
d.  None of the above
Ans A (a)
< B.(b)
X C.(0
X D.(d)
Question ID : 6147728728
Status : Answered
Chosen Option : A
Q.17
Which is the Goal 5 of Sustainable Development Goals (SDGs)
a.  Gender Equality
b.  Elimination of Poverty
c.  Quality Education
d.  Good Health and Well-Being
Ans A (a)
X B.(b)
X C.(c)
# D.(d)
Question ID : 6147728737
Status : Not Answered
Chosen Option : --
Q.18
Who among the following 1s the 11" richest person in the world according to
the Forbes 2022 List?
a.  Gautam Adani & family
b. Mukesh Ambam
£ Shiv Nadar
d. Kumar Birla
Ans A (a)
& B.(b)
X C.(0)
# D.(d)
Question ID : 6147728736
Status : Answered
Chosen Option : C
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Q.19
Which of the following is/are among consumer rights?
a.  Right to fair price of products & services
b.  Right to easy access to products & services
c. Botha&b
d. Neitheranorb
Ans X A (a)
X B. (b)
X C.(c)
« D.(d)
Question ID : 6147728725
Status : Answered
Chosen Option : A
Q.20
‘What are the limitations of planning?
a.  Itis costly
b. It is time consuming
c. It reduces creativity
d.  All the above
Ans X A (a)
X B. (b)
X C.(c)
+ D.(d)
Question ID : 6147728738
Status : Answered
Chosen Option : D
Q.21
Elements in communication process include among others
a.  Sender
b.  Feedback
c.  Decoding
d.  All the above
Ans X A (a)
X B. (b)
X C.(c)
+ D.(d)
Question ID : 6147728729
Status : Answered
Chosen Option : D
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Q.22
Which of the following is not a defining charactenstic of business activity
a.  Exchange of goods and services
b.  Uncertainty of return
c¢.  Humanitarian aid
d.  Risk
Ans X A (a)
X B.(b)
& C.(c)
X D.(d)
Question ID : 6147728714
Status : Answered
Chosen Option : C
Q.23
Formal communication is
a.  Authorized
b.  Systematic
c.  Planned
d.  All the above
Ans X A (a)
X B. (b)
X C.(0)
& D.(d)
Question ID : 6147728730
Status : Answered
Chosen Option : D
Q.24
Enterprises in tertiary sector
a.  support enterprises In primary sector
b.  support enterprises secondary sector
c. botha&b
d.  are independent and have no relationship with any other sector
Ans X A (a)
& B.(b)
& C.(0)
& D.(d)
Question ID : 6147728715
Status : Answered
Chosen Option : C
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Q.25

Ans

In which of the following forms of business organizations the owners have

unlimited liability due to failure of business?

a.
b.
.

d.

X A (@
X B. (b)
& C.(0)
X D.(d)

Private company
Public company
Both partnership and sole proprietorship

Only in sole proprietorship

Question ID : 6147728717
Status : Answered
Chosen Option : D
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